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�5>?4D4F<O E>>F65FEF6<O =>D<4< �%
TKRT 10

�O, SKF MPT, Meidoornkade 14, 3992 AE Houten, The Netherlands 
(�<45D?4=4O) =4EF>OM<< ?>4F65D6445<, GF> ?D>4G>F<O, >?<E4==4O 6 
44==>= <=EFDG>F<< ?> M>E??G4F4F<<, E>>F65FEF6G5F GE?>6<O< E?54GNM5= 
4<D5>F<6O (4<D5>F<6):
��$��&��� RoHS (EU) 2015/863
< E>>F65FEF6G5F E?54GNM<< EF4=44DF4<:
EN 61 326-1:2013, EN 61 326-2-1:2013, 
EN 61 326-1:2012, EN 61 326-2-1:2012.

�475D >?4EE<D<F<D>64= 6 E>>F65FEF6<< E =>D<>= �%
EN 60 825-1:2014

%4GF5=, �<45D?4=4O, %5=FO5DL 2022 7.

 
Guillaume Dubois 
$G>>6>4<F5?L >F45?4 >>=FD>?O < 74D4=F<< >4G5EF64
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$5>><5=44F<< ?> 557>?4E=>EF<

"  %?54G5F ?D>G<F4FL < E>5?N44FL <=EFDG>F<< ?> M>E??G4F4F<<.
"  �D< <E?>?L7>64=<< F4E><5FD4 E?54G5F =44564FL 74M<F=O5 >G><.
"  �5 E<>FD5FL =4 <EF>G=<> ?475D4.
"  �5 >F>DO64FL ?D<5>D < =5 ?OF4FLEO D57G?<D>64FL <>M=>EFL 

?475D4.
"  �E?< ?D<5>D =5 5G45F <E?>?L7>64FLEO 4?<F5?L=>5 6D5<O, 

<76?5><F5 54F4D5N.
"  �E5 D5<>=F=O5 D45>FO 4>?6=O ?D>6>4<FLEO D5<>=F=>=  

E?G65>= SKF.
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1. �5M<5 E4D4>F5D<EF<><
�475D=O= F4E><5FD SKF TKRT 10 <<55F 5>?LL>= 6<4>>>D<EF4??<G5E><= 
4<E??5= E ?>4E65F>>=, >>F>DO= >55E?5G<645F ?D56>EE>4=GN 6<4<<>EFL 
?>>474=<= ?D< D47?<G=OE GE?>6<OE >E65M5==>EF<.
�D<5>D ?>76>?O5F 6O?>?=OFL 5OEFDO5 < F>G=O5 <7<5D5=<O G7?>6>= < 
?<=5==>= E>>D>EF< 6D4M5=<O >>=F4>F=O< < 55E>>=F4>F=O< E?>E>5><.

�= ?>EF46?O5FEO E FD5<O >>=F4>F=O<< 
?5D5E>4=<>4<< 4?O <7<5D5=<O 
G7?>6>= < >>DG6=>= E>>D>EF< 
>>=F4>F=O< E?>E>5><.

%D54< ?D>G<E DG=>F<= <>6=> 
6O45?<FL ?4<OFL =4 10 OG55>, 
D56<<O <7<5D5=<O <4>E<<4?L=>=, 
<<=<<4?L=>= < ED54=5= E>>D>EF<.

2. &5E=<G5E><5 E4D4>F5D<EF<><

�5M<5 E6545=<O
�<E??5= 5-F< D47DO4=O= 6<4>>>D<EF4??<G5E><= 

4<E??5= E ?>4E65F>>=

$47D5L5=<5 D57G?LF4F4 
<7<5D5=<O 

0,1 >5/<<= ?D< G4EF>F5 6D4M5=<O 4>  
10 000 >5/<<=, 1 >5/<<= ?D< ?D>G<E 
G4EF>F4E 6D4M5=<O

�4<OFL 10 <7<5D5=<=

�=4<>4F>D =<7>>7> 74DO44 
4>>G<G?OF>D4

�D<EGFEF6G5F

�6F><4F<G5E>>5 >F>?NG5=<5 G5D57 15 E5>G=4

�7<5D5=<5
�?F<G5E><5 D56<<O >5/<<=, �5DFO

�>=F4>F=O5 D56<<O
>5/<<=, <5FDO, 4N=<O, OD4O, DGFO 6 <<=GFG, 
�5DFO

$56<<O EG5F4 >5M55 >>?<G5EF6> >5>D>F>6, <5FD>6, DGF>6, OD4>6

�D5<O <7<5D5=<O 0,5 E5>G=4O (?D< G4EF>F5 6D4M5=<O 5>?55 120 >5/
<<=)

�<=5==4O E>>D>EFL >F 0,2 4> 1 500 <5FD>6/<<= (4 500 DGF>6/<<=)



63SKF TKRT 10

�?F<G5E>>5 <7<5D5=<5

�<4?47>= G4EF>FO 6D4M5=<O >F 3 4> 99 999 >5/<<=

&>G=>EFL ±0,05% >F <7<5DO5<>= 65?<G<=O 
65?<G<=O ±1 D47DO4

$4EEF>O=<5 <7<5D5=<O >F 50 4> 500 << 
(>F 1,9 4> 19,7 4N=<4)

�>?GEF<<O= G7>? <7<5D5=<O ±45°

�475D=O= 44FG<> >4<= 6EFD>5==O= ?475D >?4EE4 2

�>=F4>F=O= 74<5D

�<4?47>= G4EF>FO 6D4M5=<O >F 2 4> 20 000 >5/<<=

&>G=>EFL ±1% >F <7<5DO5<>= 65?<G<=O 65?<G<=O 
±1 D47DO4

�>=F4>F=O5 ?5D5E>4=<>< � >><??5>F5 ?5D5E>4=<>< E >>=GE=O< 
=4>>=5G=<>><, E >>=GE=O< G7?G5?5=<5<  
< D>?<>><

�4F4D5O < M?5>FD>?<F4=<5

�4F4D5O >4=4 M5?>G=4O 54F4D5O, 9 �, F<? IEC 6F22

�?<F5?L=>EFL D45>FO 12 G4E>6 =5?D5DO6=>7> <E?>?L7>64=<O

�>?>?=<F5?L=O= <EF>G=<> 
?<F4=<O

$47N5< 4?O ?>4>?NG5=<O 74DO4=>7> 
GEFD>=EF64, 6 �, ?>EF>O==O= F>> (74DO4=>5 
GEFD>=EF6> =5 6E>4<F 6 >><??5>F)

$47<5DO < 65E

$47<5DO <745?<O 160 × 60 × 42 << (6,3 × 2,4 × 1,7 4N=<4)

�5E <745?<O 160 7 (0,35 DG=F4)

$47<5DO DGF?OD4 260 × 85 × 180 << 
(10.3 × 3.4 × 7.0 4N=<4)

�5M<= 65E (6>?. DGF?OD) 680 7 (1,5 DG=F4)

$45>G<5 GE?>6<O

$45>G4O F5<?5D4FGD4  >F 0 4> 50 °C (>F 32 4> 122 °F)

&5<?5D4FGD4 ED4=5=<O >F -10 4> +50 °C (>F 14 4> 122 °F)

�F=>E<F5?L=4O 6?46=>EFL >F 10 4> 90%, 557 >>=45=E4F<<

�?4EE 74M<FO IP 40
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�><??5>F4F<O

1 × F4E><5FD SKF TKRT 10

1 × >><??5>F <7 FD5E >>=F4>F=OE ?5D5E>4=<>>6

1 × 54F4D5O 9 �

1 × >><??5>F >FD464NM5= ??5=><

1 × <=EFDG>F<O ?> M>E??G4F4F<<

�4?4E=O5 G4EF<

TKRT-RTAPE �FD464F5?L=4O ?5=F4

TDTC 1/A �5M<= >5=E 557 E>45D6<<>7>, D47<5D A

3. �>DO4>> D45>FO E ?D<5>D><

" �F>D>=F5 54F4D5==O= >FE5> < GEF4=>6<F5 54F4D5N 9 �.
" �5E>>=F4>F=>5 <7<5D5=<5: 

�4>D5?<F5 E4<>>?5NMGNEO >FD464NMGN ??5=>G =4 >5N5>F5, GLN 
G4EF>FG 6D4M5=<O =5>5E>4<<> <7<5D<FL. �FD464NM4O ??5=>4 4>?6=4 
5OFL D4E?>?>65=4 >4> <>6=> 5?<65 > 6=5L=5<G >D4N >5N5>F4.

" �>=F4>F=>5 <7<5D5=<5: 
�O55D<F5 =4<5>?55 ?>4E>4OM<= >>=F4>F=O= =4>>=5G=<> < GEF4=>6<F5 
57> =4 F4E><5FD, <E?>?L7GO >>=F4>F=O= ?5D5E>4=<>.

" �46<<F5 >=>?>G <MEAS=. �4654<F5 ?475D =4 >5N5>F <?< 6654<F5 
44FG<> 6 >>=F4>F E >5N5>F><. 
%G<F4=F5 ?>>474=<O E 6<4>>>D<EF4??<G5E>>7> 4<E??5O.

4. �?<E4=<5 DG=>F<=

� D56<<5 E>4=<D>64=<O =4 >E=>6=>< 4<E??55 >F>5D4645FEO F5>GM<= 
D57G?LF4F <7<5D5=<O.
�E=>6=>= 4<E??5= 5G45F >F>5D464FL ?>E?54=<5 <7<5D5==O5 7=4G5=<O, 
?>>4 F4E><5FD 46F><4F<G5E>< =5 >F>?NG<FEO G5D57 15 E5>G=4.

$56<<O <7<5D5=<=:
%GM5EF6GNF 465 7DG??O <7<5D5=<=:
" �>?NG<F5 ?D<5>D =464F<5< >=>?>< <MEAS=.
" �46<<F5 >=>?>G <MODE= ($56<<) 4?O ?5D5?<EFO64=<O E?54GNM<E 

D56<<>6: RPM, rPm, HZ, M/M, I/M, F/M, Y/M.
" �46<<F5 < G45D6<64=F5 >=>?>G <MODE= ($56<<) 6 F5G5=<5 3 E5>G=4 

4?O ?5D5>?NG5=<O 6 E?54GNMGN 7DG??G <7<5D5=<=.
" �46<<F5 >=>?>G <MODE= ($56<<) 4?O ?5D5?<EFO64=<O E?54GNM<E 

D56<<>6: REV, M, In, FT, Yd.
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" �>E?5 6O5>D4 =G6=>7> D56<<4 =46<<F5 < G45D6<64=F5 >=>?>G <MEAS= 
4?O =4G4?4 <7<5D5=<O.

�4?<EL <7<5D5=<O:
" '45D6<64=F5 >=>?>G <MEAS= 6 =464F>< ?>?>65=<<.
" �46<<F5 >=>?>G <MEM= 4?O 74?<E< <7<5D5=<O.
� ?4<OFL <>6=> E>ED4=<FL <7<5D5=<O MAX, MIN, AVG < DATA.
�><5D 74?<E< 5G45F G65?<G5= =4 54<=<FG.

�O7>6 E>ED4=5==>7> <7<5D5=<O:
" �46<<F5 >=>?>G <MEM= 4?O >F>5D465=<O E?54GNM57> E>ED4=5==>7> 

<7<5D5=<O. 
�>EFG?=O E?54GNM<5 E>ED4=5==O5 <7<5D5=<O: MAX, MIN, AVG < DATA.

" �46<<F5 < G45D6<64=F5 >=>?>G <MEM= 4?O ?5D5>?NG5=<O =4 
E?54GNM<= =45>D <7<5D5=<=. 
�>6=> 6O5D4FL >4<= <7 45EOF< =45>D>6 <7<5D5=<=, <E?>?L7GN 74?<E< 
>F DATA 0 4> DATA 9.

�5>7=4G5=<5 �?<E4=<5

RPM '4EF>F4 6D4M5=<O, <7<5D5==4O 55E>>=F4>F=O< E?>E>5><

rpm '4EF>F4 6D4M5=<O, <7<5D5==4O >>=F4>F=O< E?>E>5><

HZ '4EF>F4, <7<5D5==4O 55E>>=F4>F=O</>>=F4>F=O< 
E?>E>5><

M/M %>>D>EFL 6 <5FD4E 6 <<=GFG, <7<5D5==4O >>=F4>F=O< 
E?>E>5><

I/M %>>D>EFL 6 4N=<4E 6 <<=GFG, <7<5D5==4O >>=F4>F=O< 
E?>E>5><

F/M %>>D>EFL 6 DGF4E 6 <<=GFG, <7<5D5==4O >>=F4>F=O< 
E?>E>5><

Y/M %>>D>EFL 6 OD44E 6 <<=GFG, <7<5D5==4O >>=F4>F=O< 
E?>E>5><

REV �>?<G5EF6> >5>D>F>6

M �?<=4 6 <5FD4E 
(�D< <E?>?L7>64=<< E4<>7> 5>?LL>7> D>?<>4)

In �?<=4 6 4N=<4E 
(�D< <E?>?L7>64=<< E4<>7> 5>?LL>7> D>?<>4)

FT �?<=4 6 DGF4E 
(�D< <E?>?L7>64=<< E4<>7> 5>?LL>7> D>?<>4)

Yd �?<=4 6 OD44E 
(�D< <E?>?L7>64=<< E4<>7> 5>?LL>7> D>?<>4)
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5. �E>55==>EF< 6O?>?=5=<O 55E>>=F4>F=OE <7<5D5=<=

�FD464NM4O ?5=F4 4?O 55E>>=F4>F=OE <7<5D5=<=:
$47D56LF5 E4<>>?5NMGNEO >FD464NMGN ?5=FG, 6E>4OMGN 6 >><??5>F, =4 
<4?5=L><5 >644D4FO < =4>?5=F5 >644D4FO =4 6D4M4NM<5EO >5N5>FO.
a) �?>M44L =5>FD464NM5= ?>65DE=>EF< 6E5744 4>?6=4 5OFL 5>?LL5 

??>M44< >FD464NM5= ?>65DE=>EF<.
b) �E?< ?>65DE=>EFL 64?4 <<55F 5EF5EF65==GN >FD464NMGN E?>E>5=>EFL, 

>=4 4>?6=4 5OFL ?>>DOF4 G5D=>= ?5=F>= <?< G5D=>= >D4E>>= ?5D54 
=4>?5=>>= >FD464NM5= ?5=FO.

c) �5D54 =4>?5=>>= >FD464NM5= ?5=FO =5>5E>4<<> G554<FLEO 6 G<EF>F5 
< 7?44>>EF< ?>65DE=>EF< 64?4.

�7<5D5=<5 >G5=L =<7>>= G4EF>FO 6D4M5=<O:
�E?< G4EF>F4 6D4M5=<O >5N5>F4 >G5=L =<7>4O, <>6=> =4>?5<FL =5E>>?L>> 
>644D4F>6 <7 >FD464NM5= ?5=FO =4 <EE?54G5<O= >5N5>F.
�?O ?>?GG5=<O D4>F<G5E>>= 65?<G<=O E>>D>EF<, 65?<G<=G E>>D>EF< 
=4 4<E??55 ?D<5>D4 =5>5E>4<<> D4745?<FL =4 >>?<G5EF6> =4>?55==OE 
>644D4F>6.

�D<<5G4=<5:
" �D< D47DO65==>= 54F4D55 =4 4<E??55 ?>O6?O5FEO E<<6>? 54F4D5<, 

>>744 =46<<45FEO >=>?>4 <MEAS=.
" �5 4>?GE>4=F5 ?>?444=<O 6<4>>EF< 6=GFDL F4E><5FD4.

RU   $'%%���   �������&��,��/ ��$�$��&�/

�=D>D<4F<O >5 G?>?=><>G5==>< ?<F5 < 
>>=F4>F=>= <=D>D<4F<< 4?O E6O7< E =<<:

��� «%�$»
121552, 7>D>4 �>E>64, G?<F4 /DF56E>4O, 4.19, �?>> �, -F46 7.

&5?5D>=:  +7 495 215-1006
�-mail:   SKF.Moscow@skf.com 
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